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Unit 1
Lesson 8

Nouns: k Adjectives:

717 = machine o] 7} ¥t} = to be old

tf &2l = college, university 2+ 31t} = to be perfect

E g =truck o} 3t} = to be sick, to be sore

-84 = (the color) black =53}1t} = to be smart

2] A = (the color) white
& 5.7 = beverage, drink
9] =1 = foreign country

9] =<l = foreigner
5

1

5 8F 3 = high school
A1 = library

AT} = to write

21 4=3}t} = to make a mistake
2] 3T} = to repair

7t} = to catch, to grab, to grasp
81t} = to read

U T} = to pay for

wkT} = to get, to receive, to acquire
T35k} = to arrive

o] 8 5}t = to travel

Adjectives:
% T} = to be young
+ U =to be old

< 2.3}t} = to be important
L}HE T} = to be bad

Adverbs and Other Words::
= A] = immediately

HF 2 = immediately
w2 = quickly/fast
A} = often

7} = sometimes
%ol = many/a lot of
" = a moment ago
3= = place

& A] ol = same time

9} = last night
7 AF7] = suddenly
v \d = every year

T}A] = again
<2} = alone
St = daytime

= East

= South
] = West

= North

Korean Adverbs

To this point, you have studied Korean verbs and adjectives in great depth, but you have
yet to learn much about Korean adverbs. First of all, what is an adverb? Adverbs are
words in sentences that tell you when, where, or to what degree something is being done.

When: | went to work on Tuesday
Where: | am inside the house
Degree: | opened the door quickly

In this lesson, you will learn how to use adverbs in Korean sentences. Let's get started!
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When and Where
Anytime you put a word in a sentence that indicates when or where something is taking
place, you must add the particle I to the end of that word. Keep in mind, however, that
ol is not the only particle that can go at the end of words of position or time. There are
other particles that can go at the end of these words to indicate from when/where
something occurred, until when/where, etc. For now, though, let’s just talk about .

This is very important. Even though all places (park, house, hospital, school, office, room,
kitchen, etc) are also nouns, when they are being talked about as a place, the particle ©]|
must be attached to them. Notice the difference between the following two sentences:

A= W Y-S #21] & =1 built a hospital
A= W ol 2ko] & = | went to the/a hospital

In the first sentence, “hospital” is the thing in which you are building — so it is an object,
which requires you to use the /= particle.

In the second sentence, the hospital is the place in which you went to — so it is a place,
which requires it to have the I particle.

However, if you wanted to say where you built that hospital, you could say this:

A]

rlr

HAS 9 Aol X1 e] 2 =1 built a hospital beside the park

In addition to this, any word that indicates when something is taking place, needs have
the Korean particle || attached to it. For example:

A= skadel 713
A= A o] B3

TR

A=7heel &2 el

= 1 will go on Tuesday
= | studied in the evening
& Al o] & =1 built a hospital beside the park in the fall

L2 2

(@]
i
Q
i
I

The best part about Korean adverbs is that they can essentially be placed at any place in
the sentence. The only place they cannot be placed is at the end of the sentence - because
a sentence must always end in an adjective or verb. They could even be placed at the
beginning of a sentence:

o] Fol A= FH-3F2 o1 & = 1 will study in the summer

Korean people don’t add ~°I] when using 2= (today), YH < (tomorrow) and o A
(yesterday). For example:

A o] 05 ©24g)
A Aol o} 4] zto]
e WL B2 B

£ =1 went to the library yesterday

o] @ =l arrived in Korea today
Q
3l Z1lo] & = | will study Korean tomorrow.

© HowtoStudyKorean.com — Unit 1 2



To what degree/How much
In addition to “when” and “where” adverbs, many adverbs can tell us to what degree
something is being done. These adverbs usually (but not always) end in ‘ly’ in English:

| ran really quickly

| ate fast

| left immediately

| often meet my friend on Thursday
| eat too much sometimes

When adding these types of adverbs to sentences, no particle needs to be attached.
While other adverbs are generally free to be placed anywhere in a sentence, adverbs like
this that indicate a degree to which something is done are typically placed immediately
before the verb. For example:

A= A9 ZGE 2 w2 = | meet my friend often
AT WS Wol H3lo] 2 =1 ate alot of food (rice)
A= Holl vF2 Zko] & = 1 went home immediately
A A E W] do] 2 =1 did my homework quickly

Also, many of these words are just transferred from their adjective forms to create an
adverb. This is done in English as well, for example:

Quick —» Quickly
Easy —» Easily
Quiet — Quietly

A lot of adverbs in Korean are simply made by adding *7l|” to the stem of an adjective:

Adjective Adverb

4t} = easy Al = easily

1] Z=3}} = similar H] 5231 ] = similarly
t} 2t} = different o= 7] = differently

Adjectives that end in 3} T} are sometimes changed into adverbs by changing 3}t to 3].
With most &} t} adjectives you can either add 7| to the stem or 3] with no difference in
meaning. The only thing | can suggest is try to listen to which one is said in a specific
situation, because even Korean people don’t know the answer to the question “what is the
difference between %83} 7 and %83

Adjective Adverb
Z8-3}} = quiet Z B Al/Z-8 3] = quietly
o+ 5t} = safe e 5} Al/QF 7 8] = safely
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Finally, some adjectives are changed into adverbs in a different way. When this happens,
they are usually very similar to their original adjective form:

Adjective Adverb

2} = many ol = many/a lot*

W2 o} = quick/fast | 2] = quickly

*Ht) and o] essentially have the same meaning aside from the fact that one is an
adverb and one is an adjective. With most words, the difference between the adjective
and adverb form is very clear, but with = ©]/%t}, the meaning is similar. For example:

A= o wks Wolo] @ = ate alot of rice
A= Whe @o] H91o] 8 = ate a lot of rice.

Now that you know ALL that, using adverbs in sentences is easy as pie!:

A= 283k A MU o] & = 1 ate quietly
A= AYE kA 715 0] 2 =1 crossed the street safely
A= S5k Al Agko] 8 =1 lived happily

You can, of course, use more than one adverbs in a sentence. To look at the list | showed
you earlier:

| ran really quickly = A= =] -$- #g] &d3lo] o

| ate fast = A= ] H3olo] 2

| left immediately = A= ¥} 2 wylo] @

| often meet my friend on Thursday = 4= A 2] 2G5 HQ.d A= vt e
| eat too much sometimes = A= 7}8 Y& Zo] woj g

Though you can do that, using two adverbs that indicate the ‘degree of something’ is
generally not done in Korean. For example, this would sound awkward:

A= GA wy] ATl E %o 2 =1 easily quickly crossed the street (It’s also
awkward in English!)
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Negative Sentences
There are two ways you can make a sentence negative:

1. By adding F, which acts as an adverb in the sentence. ¢} is typically placed
immediately before the final verb or adjective. For example:

71 o R} QF o] @ = That girl isn’t pretty
A= A S QF Fotall & =1don’t like fish
A= W stale] 9F 7FHalo] 2 = I’m not going to school tomorrow

2. By adding ~#] 2t} to the stem of the final verb or adjective. 2T} then becomes the
verb or adjective in that sentence and must be conjugated accordingly. For example:

1 o] R} o B X] ¢FO} Q = That girl isn’t pretty
A= S FolshA] ol 2 =1don’t like fish
A= W ghate)] 712 24191 & = I’m not going to school tomorrow

Their respective meanings are identical. It is up to the speaker to decide which one will
be used. There are times when it will be more natural to use “<}” and there will be times
when it will be more natural to use “~%*| 2 T}.” At this point, you can consider them the
same. Throughout your studies you will constantly be exposed to 9} and ~#| 2T}, and

through this exposure you can gradually develop a preference for which one should be
used and in which circumstance.

I like to share my observations that | have made through my experiences with the Korean
language. I think this can be helpful to learners as they struggle to understand when to
use some grammatical principles over others. There are a few things | would like to talk
about regarding these negative sentences.

As you know, most verbs ending in ~3} T} can be turned into a noun-form of that verb by
removing ~3}t}. For example.

SFt} = to study
= the noun form of “study”

ol o

=]
- -
=]
-

=3} t} = to make a mistake
<~ = a mistake

>

o] g 3}t} = to travel
of s =atrip
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When indicating that one “does not do” a ~5} T} verb, it is common to separate ~&} T
from the noun and place “$}” in between them. For example:

A= FHE QF dlo] & =1 didn’t study
Instead of:
Atk 3R

3]

ko

S

Ao A4E <F 319 & =1 didn’t make (do) a mistake
Instead of:

Ak Agglofa

A= o] Y5 QF o] & =1didn’t travel

Instead of:

A= b ool e

It would also be appropriate to use the ~*] 2t} form with these words. However, in
these cases, it doesn’t matter if the noun is separated from ~3}T} or not. For example.

SFA] gk 2ko] & =1didn’t study
£ oA &3ko] 2 =1didn’t study

=] didn’t make a mistake
= AFE A &ko] 8 = | didn’t make a mistake

A= of 3§ 5FA] &eko] 8 =1didn’t travel
A ¢F2ke] & =1 didn’t travel

Many adjectives end in ~3}t}. It is unnatural to remove the ~3}t} in these words and
place “2}” between them. You can’t separate an adjective and “act” on it with ~&}t}
because they are adjectives. For example, the following would be incorrect:

A& 35 <F 3.8 (This does not mean “I am not happy”)

However, you could use ~#] 2T} on a -} T} adjective or place “3F” before the verb
without separating it. For example:

A= ¢k 353 & =1 am not happy
A& A E3FA] ol 2 =1 am not happy
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I have had people ask me about the word order of sentences using an adverb and the
negative adverb “S}”. One learner asked me if this sentence would be okay:

Q. VAN = -
Ao k] QF Fh-dlo] g

While it might be understood, this sentence sounds very awkward in Korean. The reason
is probably due to the fact that there are two adverbs being used. In this sentence, both
“m-2]” and “2F” act as adverbs that indicate the degree to which the studying was done.
As | mentioned earlier, this usually isn’t done in Korean. Instead, if you wanted to
express that meaning, you can use the ~*] 22T} negative addition instead. By doing this,
you effectively remove one of the adverbs and are left with:

A= wkg] FEEA] ekgko] @ =1 didn’t study quickly
Even still, though. This sentence could still be a little awkward in Korean — because when
would you ever say “I didn’t study quickly”? In most cases, it would be more natural to

simply use an adverb that has the opposite meaning. For example, this sentence:

HHS wkg] W] 2F9ko] 8 =1didn’t eat (rice) quickly

A]

rlr

Would be more naturally said as:

F& 3] 2 9lo] 8= ate rice slowly

o

A]

rir
Tk
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To not be: o} Yt}
oYt} (to not be) is the opposite of the word ©] t} (to be), but they are used a little bit
differently. Remember that ©] T} is always attached directly to a noun. For example:

U= A Ad o]t} = | am a teacher

L= t) g A o] o} = | am a university student

However, when using ¢} T}, the particle ~©]/7} is attached to the noun, and ¢} T} is
used as a separate word:

U= A A o] o}y t} =1 am not a teacher

L= t) gk A o] o} o} = | am not a university student

Below are some examples, with possible conjugations of ©} 1] T}, You have learned how
to conjugate verbs and adjectives, but you still haven't learned how to conjugate ©] t} and
ol t}. You will learn this in the next lesson.

U= A A8 d o] oFth = | am not a teacher
(A Aol oho] )

= Y& 57} o} Yt} = | am not your friend
(U= Yo 771 ok el

U= gk o] ol ) = | am not a University Student
(A TsFAdo] ofLe] 1)

Hhe}
HA

Just like how ©}4 t} is the opposite of ©] T}, g1t} is the opposite of A T}. You learned
that 21t} can mean “to have” or “to be in/at a location/for something to be there”:

To have: A1+ =°] 31t = I have money
To be in/at a location: #] = &Fal 2tol] ) o] & = | am inside the school

$1 T} can have the meanings of “to not have” or “to not be in/at a location/for there to be
none of.” For example:

To not have:

A& =0 §lo] & =1don’t have money
A= Al 7ko] §1o] 2 =1 don’t have time
2= 2171 glo] & = We don't have a car

To not be in a location:
A o] = X F gF=rol]l §lo] & = My friend is not in Korea now

For there to be none of: A} o] g1 ©] 2 = There was no people
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To not like: 21 o] 3l t} and &t}
While we are talking about negative words, | want to talk about 21 13}t quickly.
"2 03}t is a verb that is used to indicate that one dislikes something. 4] 3}t} is the
opposite of = <}3}t} (to like). For example:

A= LS Hojs) e = dislike fruit
A= FL & Foldl & =1 like fruit

In Lesson 3, you learned how <=t} and < ©}3}t} are different. | explained that <=t} is
an adjective (meaning "to be good"), and thus cannot act on an object. For example:

71 A A3 & E ) = That teacher is good
o] gul+= %t} = This school is good

The adjective form of 2 ©13}t} is 21 T}, However, contrary to what you probably expect,

234t} is not used to mean "to not be good." In order to indicate that something is "not
good" (i.e. "bad"), the adjective L}-¥¥ T} is commonly used. Instead, 41T} is often used to
indicate that one dislikes something (just like 41 ©]3}t}). For example:

A= o] Ao 8 =1 dislike fruit

Notice that because 41T} is an adjective, it cannot act on an object, so the particles
~o]/7} are attached to the noun. This type of sentence is a little bit too complex right now,
so | don't want to dig too deep into it. I discuss this more deeply in Lesson 15.

Be careful to not make double negative sentences. Although technically grammatically
correct, this one reads funny:

A= LS Ho]shA] ol 2 =1 don’t dislike fruit
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